Graphing Quadratics Review Worksheet - Neme
"7 Fiil in each biank using the word bank. .
vertex - minimum  axis of symmetry x-intercepts
parabola raximum zeros/roots e ebxtc

7 Zero(s): U’fD\ . Zero(sy none. Zera(s): (7’7/(5) ¢ (00)

Tes+  Review
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1. Standard form of a quadratic functionisy = ay _tbxt C:

2. The shape of a quadratic equation is called a P aind ola
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5. When the verfex is the highes? point on the gmph we call 'i‘hq'i' a _WAK
W\«i A

6. When the vertex is ?he lowzsi' point on the graph, we call fha‘r a

7. Our solutions are the KT }fi\rtﬂpﬁ
ns are called 1€V 6 ]\(U p47S

8.. Solutions to quadmhc equatio

Determine whether the quadratic functions have fwe real poats, one reml roct, or ne reol
roots, If possible, list i‘he zeros of the function. -
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9. NumEer of rootfs: ___‘__ - 10, Number of roots:__@__, | 1. Number of f'u'o;'rst.__w




Algebra

Characteristics of Quadratic Functions
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- pomain:__ 00, OO)
Range: (,"‘/OO y Y 1

Vertex: (-2 Y )
X =-2

- Axis of Symmetry:
- y-intercept; | (9 o))

Name:

interval of Increasing:- (" 3 2 j

interval of Decreasing: ]:“ 1, 00)

Extreme Value: Ll
zero(s): (- . O) ond (9 9)__

asx—>-eo,y > KLY
asx-». oo, y->_ X

T yun

=

T & ¢
§ ]
S

b Nt ;
Domain: (”00 . £0)
7
Range: [ 0, DO)
Vertex: ( L ) e

Axis of Symmetry: K = |

y-intercept: (Q ! D)
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Interval of Decreasing: (‘ﬂof ’] —

- interval of Increasing:

© Extreme Value:._ O o

zerofs): (1 0)

asx=>-oo,y>_ ) .
asx-» o, y>__ Q|
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Ruadvatle neaunlities

Graphing
Ly2xt+2x~3 27> -4 2x+3
Staps o -
- - I A 2
1.Graph the Quadratic ﬂ?///' g z ﬂ W g//‘; ,;k"/fj’ /’ L
2. Solld or Dotied Vs 2/ g : Z AT
zars e 2T ¥ | P
Then the parabela is 2 \\; L] % ;v/ ﬁ ; 72 % 7 ﬁ' ,/; a7
aa, 3
o 4%/ e a Ll RED &Y
Then the pataboka is a /7 7 y 2
DASHED curve Y / A - 7 x
3. Shade LA : ///[
tfyou havea »arp (ﬂ A0 y
symbol, shadg where y s 7] Z Az
getting larger 4 P VA
iFyouhavea<or < A} 7 Z
symibel, shade where y is
getting smaller
Sobving . .
 Algebraioally |[1.x?4+2x<3 2.2x5+3x>5
T - T =
Steps K°¢¥1x =973 I trix =5
e ~% =0 1 -5 70
1. Euation X7+ 1X 3 rAla= Ix
- change to an etjuation =Q Y.
AR 7 -1 ) o
2, Sut stjuatlon =0 ’ (x 2 3 (x (7—X T §) ("R D
3. Solve by faciorlng K= -'}J‘ X = = g(?— J ]

4. Graph sehutlons ona
number line

| 5, Tast3 numbirs

to devarmine which
interval(s) are
seolutian(s)

& Write answer
in Intarval notatior.
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Modleling with uadvatics

evalusting & Function

Hint: Eveluate the function by
finding h(1}.
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A ball is hit into the air from a height of 4 feet. The function
git) = — 1682 + 120t + 4 can be used to model the height ofthe
balt where ¢ is the time in saconds after the ball is hit.

Find the height of the baii after 1 second.,

AN = 10 8 £
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Aamabyzing the vertex
Hing:
1. Find the axls of symmetry,
{This is the time at which the ball
reaches maximupn height.)
2, Find the vertek by avaluating the
function, The second coordinate *
inthe vertex represents the
maximum height. -

»

| Abaltis hit into the air from a height of 4 feet, The function

gt} = — 168> + 320¢ + & can be used to mods! the helght of the
ball where ¢ is the time In saconds after the ball is hit.

o

What is the maximum heig%;t the bill reaches?
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Analigzing the Zevos

Hint

i. Set the quadratic equa! tc zero
and solve.

2, Disregard solutions that are
negativa (since time does not go

~ backwardsl}

3. The remaining zero Indicates the
tima at which the ball hits the
ground.

Aball s hit lnto the air from & helght of 4 feet. The function

glt} = - 16t + 120 + 4 can be used to model the height of the ’ >
ball where ¢ s the time 1 set:osng!svagteé‘t‘;we ball L :s( hit. (AL =0 o
{“a«w«m t = -‘4"'1 ard |
How long isthe ba[! in the air? 5 PR b)?i-:-)‘
-th*,‘ LrtH = Ow . S = .
- . ) 3 S“\ " m'i' Q.(—lb)
T2l and 1 1
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